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X 73 &R B £ B | LbE &h B £ B |tk &h = £ B | K=E
g £L e 1,073,892,661| 100.0 BRIk S 821,478,895( 100.0 NN 604,245,011 100.0
1 i ANOF 380,771,820 355 | MOk 271,376,754| 33.0| ™ 2& 145,695,417 24.1
2 fi AU 213,949,718 19.9 | thDFESA%E 112,940,628| 13.7| El&f= 66,066,553 10.9
3 i fthDESAH%E 93,671,066 8.7 | =l 61,712,802 75| DECHEE 62,398,521 10.3
4 {if MaulEs 38,710,175 36| 5Y 61,249,030 15| hAlEL 42,592,335 7.0
5 {i =& 37,715,524 35| halEs 48,375,247 59| =ZHL 36,762,879 6.1
6 {iI FHL 32,763,511 31| E#FHL 33,278,401 41| 5Y 25,759,671 4.3
7 E3 25,989,888 2.4 | £ 25,642,523 31| FW 20,918,218 3.5
8 {i fthaDf-L VB 23,993,124 22| Lo 17,574,579 21| D ULINEE 20,175,535 3.3
9 i WEZY 21,718,567 20| D=L FE 16,250,703 20| =658 16,741,576 2.8
1014 HIEL 21,040,202 20| IXFEB 15,534,399 1.9 Ll 15,106,957 2.5
Z Dt 183,569,066] 17.1 | T D4 157,543,829| 19.2| ZMith 152,027,349 25.2

ARl 71H 88
X5 &h = £  F [te=xE R B £  FB [t &R B £ & | H=FE
IE {31 BERS 622,637,979| 100.0 HREkE 505,233,625| 100.0 RIS 561,611,027| 100.0
1 hoH 133,273,802| 21.4| hh2ob 81,258,735 16.0| hAIXL 69,531,146 124
2 i =32 79,796,933| 12.8 | thDFE<AHEE 67,781,150| 13.4| ElLf2 68,415,941 12.2
3 i MaulEs 68,004,863| 10.9 | &= 57,533,425| 11.4| HBDESLAH5E 66,960,910 11.9
4 i fthDESCAH%E 50,443,795 8.1 | mMAIEE 57,428,562 11.4| D8 66,778,012 11.9
5 i =FHL 41,156,292 6.6 | FHL 27,559,072 55| WEAD 53,858,351 9.6
6 i AU 28,852,853 46| £ 26,871,865 5.3| £y 26,557,339 47
7 i E3=) 24,435,265 39| AY 26,185,161 52| £HL 23,818,294 4.2
8 fi LUV 23,634,351 3.8 | DL IHEE 13,224,755 26| IFFEE 20,711,808 3.7
9 {i =558 15,504,829 25| IXFEL 12,419,090 25| SAFE 18,374,317 3.3
1013 3 14,216,038 23| Lo 11,043,705 22| 5Y 15,779,787 2.8
ZDith 143,318,958| 23.1 | ZDfth 123,928,105| 24.5| F0ih 130,825,122 23.3
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X 73 &R B £ R | HE &h B £ R [HE &h = £ R |HE
g £L e 573,064,919( 100.0 BRIk S 563,729,098 100.0 NN 683,405,805 100.0
1 i ANOF 85,251,300 14.9 | thDE<AEE 76,141542| 13.4| hDFESHEE 88,975,721 13.0
2 i DESHEE 79,846,263| 13.9| »DOH 62,005,204 11.0| AhAlEL 77,755,021 114
3 i MalEs 58,211,942 10.2 | &= 43,602,298 7.7| ElE= 57,279,708 8.4
4 {if =& 39,733,018 69| LWEAD 42,586,960 7.6 Y 50,511,480 7.4
5 {i WEAY 37,776,945 6.6 | hAIEE 40,326,999 12| LWEZD 47332135 6.9
6 {iI FHL 32,876,000 57| &Y 37,150,022 6.6 | hoFH 42,612,642 6.2
7 E3 26,806,002 47| £HL 33,127,418 59| £y 30,794,475 45
8 {i AU 25,245,086 44| IFFEH 23,999,430 43| =658 29,763,066 4.4
9 i ITFs 20,310,352 35| =Ly 22,221,131 39| FHL 28,657,520 4.2
1014 LLyvis 12,254,220 21| =658 18,503,140 3.3| AN 18,773,764 2.7
Z Dt 154,753,791| 27.1 | Z D4 164,064,954| 29.1 | ZMOith 210,950,273 30.9

ARl 1H 28

X5 &h = £ F |H=E R B * % [k=E &R = £ & | k=
IE {31 BERS 475,104,466 100.0 HREkE 627,144,840| 100.0 RIS 1,043,810,497| 100.0
1 DESHEE 68,368,239| 14.4 | thDE<CAHE 111,895,387| 17.8| ™ 2H 330,747,157 31.6
2 i haulEs 55,811,695 11.7| »2H 95,550,717| 15.2| &Y 200,170,495 19.2
3 i =& 40,978,828 86| Y 55,555,940 89| HhDECAHSE 109,273,612 10.5
4 i =FHL 32,490,934 6.8 | MAIED 47,864,350 76| hAalEs 56,658,452 5.4
5 i fhDULNHEE 32,091,394 6.8 | thDLVAIEE 31,959,567 5.1 | BDULNMEE 36,150,437 3.5
6 fi Y 31,069,682 6.5 | == 31,408,063 50| &&= 29,684,310 2.8
7 i E3=) 21,470,108 45| £HL 30,971,330 49| Ff-L 29,347,788 2.8
8 fi WEXY 18,001,684 3.8 | £ 30,160,854 48| =FHL 28,242,493 2.7
9 {i =1E 14,155,811 30| LWEAD 18,929,997 30| =658 26,823,825 2.6
1013 =558 13,701,549 2.9 | AHEMN 17,982,612 29| LWEAD 23,651,919 2.3
ZDith 146,964,542| 31.0| ZDfth 154,866,023| 24.8| FDih 173,060,009| 16.6
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ARl 4H 5H 6

X 53 m_ H £ £ [H= m__H £ F [H® m__H £ £ | =
g {sz fE k= 43,937,615| 100.0 HEk = 41,288,946| 100.0 fEkE 42,158,049] 100.0
1 L DA HKEY 15,515,086| 35.3 | &It 15,305,103| 36.9| I 14,868,845 35.3
2 fi =iv 14,908,392| 33.9 | b HKEY 13,416,352| 32.5| DA HEKEY 13,664,438| 324
3 fi AU 5516,934| 126 [ AV 5191,447| 126[ AV 5,348,307 12.7
4 I Ny 2,560,140| 5.8 | Ahl> 3,188,592 7.7| Ml 3,218,508 7.6
5 I HL 1,866,421 42| HL 1,633,684 4.0 Ly 1,867,104 44
6 fiI i) 1,370,088 3.1 | KA 1,220,616 3.0| L 1,790,897 4.2
7 i Lyh 1,135458| 2.6 | L\A 1,139,994 28| K 1,355,238| 3.2
8 fi M 1,026,216] 23| 9YH 113994 03|3Y5H 29,160( 0.1
9 fi EPES 38,880 0.2 | AIZ 79,164 0.2 A< 15,552 0.1
1041

A Al 7R 8H 9

X5 m B & B | H= m_ H £ F | Hh= m_ H & B [t
B fL HERRE 46,235,561 100.0 HEk = 47,834,741]| 100.0 HERE S 41,217,584] 100.0
LI =y 17,839,930| 385 | &l 17,647,291| 36.9[ =l 16,766,578 40.6
2 fi DA HKEY 15,041,892| 32.5 [ DA RKEN 16,352,315 34.2 | DA HKEY 12,666,326 30.7
3 fi AU 5879,607| 12.7| AU 5968,027| 125| AUV 4,491,916 10.9
4 i1 Al 3,035448| 6.6 | MLy 3,467,394 7.2 MhlL» 3,139,776 7.6
5 fi »HL 1,694,836) 3.7 L\d 1,5638,136] 3.2| L\A 1,388,329| 34
6 fi R 1,380,780| 3.0 | #L 1,458,766] 3.0| HL 1,343,541 3.3
7 i1 LA 1,320,516 2.9 | K& 1,345,680 28| K& 1,239,894| 3.0
8 fi LS 24192 0.1 | A 36,936 0.1 MIZ 158,220| 04
9 fu M 18,360 00| 9YH 20,196 0.1|9Y5 23,004 o041
1041
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ARl 104 118 128

X 53 m_ H £ £ [tbX m__H £ £ |tbX m__H £ £ |thX
g {sz fE k= 41,657,064| 100.0 HEk = 45,233,578| 100.0 fEkE 95,895,473] 100.0
1 L =iv 15,430,874| 37.0 | &IF 15,876,329| 35.1 | DA HKEY 32,572,198| 33.9
2 fi fth DA HIKEY 14,018,882| 33.7 | thDA H/KEY 14,269,987| 31.5[ =l 26,356,694| 27.5
3 fi AU 4,560,916) 109 [ AUV 5,652,644 12.5| A< 15,874,596 16.6
4 I Ny 2,967,462| 7.1 | Ahly 3,369,254 74| AUV 12,899,552 13.5
5 fu »HL 1,388,213 3.3 [ M 1,592,568 3.5| Ahly 3,406,212 3.6
6 fiI i) 1,298,646] 3.1 | Ly 1,675,666 3.5[ L A 1,933,200) 2.0
7 i Lyh 1,115,165| 2.7 | K& 1,401,678 31| FK& 1,477494] 1.5
8 fi M 836,082 20| HL 1,397,822| 31| &HL 1,285,310 1.3
9 fi Lt 40,824| 02| 3Y5 97,630| 03|3Y&H 90,217 0.1
1041

A Al 1H 2H 3

X5 m B £ F (b= m_ H £ B b= m_ H & F =
B fL HERRE 35,009,904| 100.0 HEk = 38,235,574| 100.0 HERE S 43,071,824] 100.0
LI =y 13,906,886| 39.7 | &l 14,191,364| 37.1[ =T 15,683,256| 36.4
2 fi DA HKEY 11,213,385| 32.0 [ DA RKEN 12,012,276| 31.4| A HKEY 13,812,677| 32.1
3 fi AU 3,210,732] 92| AU 4,318,477 11.3| AV 4,914,855 114
4 i1 Al 2,358,828| 6.7 | MLy 3,346,812 8.8 MLy 3,405,726 7.9
5 fi i) 1,286,442| 3.7| &L 1,472,698 39| K& 1,427,220] 3.3
6 fi ya) b 1,182,654 34| K& 1,465,128 3.8 Ly 1,306,854| 3.0
7 i1 »HL 1,135,220 3.2 | L\d 1,077,948| 28| IS 1,290,438| 3.0
8 fi LA 681,804 1.9| NS 181,440 05| &HL 1,190,622| 2.8
9 fi LS 33953 02|3Y5 169,431 04(3Y5 40,176 041
1041
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X 5 & B £ 8 | L= & ] £ % | k= & B £  F | k=
g 45z e 41,916,185| 100.0 RIS 40,895,959| 100.0 BRIk 44,037,594| 100.0
1 6 |[HomIKED 15,031,993| 35.8 | DM ITKEY 13,024,505| 31.7| @51 12,860,208| 29.2
2 1 |gShE 6,032,502| 14.4| gE5HE 10,151,708| 24.8 |t TKEY 12,419,359 28.2
3 I |[thoiEFRLE 4,139,851 9.9 | thDIETFRIE 3,377,575 8.3| thDIEF & 5E 3,488,122| 7.9
4 1 |\ 3,875,132| 9.2 | &y 3,375,878| 8.3 &l 3,289,306 7.5
5 1 [#E=5C 2,806,059| 6.7 | i&sIE 2,161,674| 53| BE(E 2,154,340 4.9
6 I [HBEE 2,083,104| 50| &E=5C 1,948714| 48|i&=-5C 2,119,505| 4.8
7 1 [sFLbL 1,998,944 48| thnEESRLE 1,638,445 40| AFL L 1,622,290| 3.7
8 fiI |[thiEESLE 1,650,777| 3.9 [ L FLvbL 1,340,144 3.3| thDIEE S LE 1,606,184| 3.6
9 I [BYDA 1,089,031 2.6 | KT F & 864,451 2.1|BYHA 1,402,555 3.2
106 |KfFF& 902,925 22| BYHA 678,956] 1.7| ®k{tF & 1,070,896 2.4
ZF Dt 2,305,867| 5.5 F0Dits 2,333,909| 5.7| Fnith 2,004,829| 4.6

A5l 18 8H
X5 & | & K | tEE & ] &  F | HbE T B & K | k=
IE s BEEE 53,289,844| 100.0 BEEE 38,529,394/ 100.0 BIEE 43,433,206| 100.0
1 & |BSaE 21,497,702| 40.3 | thd T KED 12,602,920| 32.6 | #iD M ITKEY 13,842,194| 31.8
2 1 |HMOmIKEY 13,249,422 24.9 | H5HE 6,920,273| 18.0| BESLE 8,895,474| 205
3 1 |[1EE 3,667,947| 6.9 | i&lF 3,672,001| 95|i&E&lF 3,843,895 8.9
4 1 |toEFRE 3,087,165| 5.8 | tDEFSLE 3,141,098| 8.2| thDIEF&EE 3,352,564 1.7
5 1 [#EF-5C 2,301,330| 4.3 | &E=5C 2,166,548| 5.6 &5 2,797,918 6.4
6 1 [ 2,087,856| 3.9 |&&(E 2,141,100] 56| B 2,304,396| 5.3
7 1 |[thoiEERLE 1,446,127 2.7 | thDiEE S EE 1,488,846 3.9|1ESAFE 1,838,160 4.2
8 I [sFLbL 1,344775| 2.5 [ L FLvbL 1,318,343 3.4 | thDIEE AL 1,684,645| 3.9
9 1 [BUDA 1,093,804 2.1 |iEsAFE 1,136,700/ 3.0| AL FL L 1,418,026| 3.3
1008 | BETFRE 743772| 14| KiFF & 787,906| 2.0 BR{TTF & 900,299| 2.1
Z Dt 2,769,944| 52| F0ith 3,153,659| 8.2| Fdith 2,555,635 5.9
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X 73 &h B * K [HeE &h B * K [HEFE &h = £ K | HE
g £L e 39,5679,135( 100.0 RIS 42,015,906( 100.0 RIS 73,683,588| 100.0
1 i O KEY 14,182,954 35.8 | D MIKEY 17,245,801 41.0| LI KEY 36,734,582 49.8
2 i BESE 6,491,016| 16.4 | B5%E 5,678,424| 135|&ENT DT 8,797,356 11.9
3 fi hDIET A58 3,760,490 9.5 | hDIET&HAEE 3,451,423 8.2 | BEOHGE 5,526,900 7.5
4 fiI BT 2,602,692 6.6 | BT 3,059,889 7.3 | thDETFMEE 3,877,620 5.3
5 {i Bf-52 2,297,816 58| &f=5C 2,832,607 6.7| E=5C 3,591,331 49
6 {iI BEE 2,243,970 57| BxIE 2,486,322 59| &t 3,558,686 4.8
7 i ALFLHL 1,492,681 38 | thDiEEAEE 1,399,030 33| D EE MEE 2,446,810 3.3
8 {i DG MmEE 1,308,277 33| AFLvbL 1,356,410 32| =X 1,816,128 2.5
9 i R T & 1,086,475 2.7 | KT F & 971,620 23| &f=C 1,696,785 2.3
1014 EBIAE 978,264 25| #f:C 704,957 1.7 FLvbL 1,454,933 2.0
ZDith 3,134,500 79| ZDih 2,829,423 6.9| ZDith 4,182,457 5.7
ARl 18 2R 3

X5 &R = & BF | HeE R B & B [HE &R B & B |HE
B 4z BERS 32,344,260( 100.0 HREkE 35,171,477| 100.0 RIS 43,147,183| 100.0
1 DI ITKEY 13,638,186 42.0 | thDMIIKEY 14,826,163| 42.1 | thD NI KEY 15,990,663| 37.1
2 i BESTLE 3,443,634| 10.6 | BE5%E 4372,650| 12.4| B5E 7,548,984 17.5
3 i D& T MR 2,895,148 90 | hDIETMEE 2,894,372 8.2 | thDIEF W¥E 3,384,446 7.8
4 i BxE 2,192,832 6.8 | BT 2,414,460 6.9| BT 3,191,660 7.4
5 i Bf-5C 2,153,095 6.7 | tEf=-5C 2,150,850 6.1|18=-5_ 2,951,063 6.8
6 i BT 1,998,887 6.2 | E&IE 1,965,492 56| &SE 2,327,886 54
7 i DGR MmEE 1,278,676 40| AFLvbL 1,682,980 48| ALFLvHL 1,823,318 4.2
8 i FLFLHL 1,116,633 35| thiEEAEE 1,405,207 40| ISR WEE 1,686,246 3.9
9 {i BRAT T & 1,106,687 3.4 | BR{TF & 871,386 2.5 | BRI F & 1,054,107 2.4
101 MNEIXS 534,584 1.7 &fZC 621,160 1.8 &= 837,736 1.9
Z Dt 1,985,898 6.1 | TDih 1,966,757 56| ZDih 2,351,074 5.6




